Admiral AW25K3A 04 - CONTROL PANEL (REV. E-J)

Admiral Residential Admiral AW25K3A Washer Parts Parts Diagram 04 - CONTROL PANEL (REV. E-J)
Click on the part number to view part

Item Original Part Number Replaced By Status Part Description
1 25-7649 910187 Screw
" 25.7702 Speedclip, End Cap To Control
Panel
" 35-2554 Not Available PANEL, CONTROL
2 35-2488 21001452 Cap- End
" 35-2487 21001451 Cap- End
3 34-9487 Not Available PLATE, REINFORCEMENT
" 25-7697 25-2219 Screw
" 25-7851 Speedclip, End Cap To Top
4 W10124350 Not Available Nog R RED PART OR
" 25-7435 33002917 Screw, No.10-16
5 53-0277 Not Available TRIM, END CAP (RT)
" 53-0278 Not Available TRIM, END CAP (LT)
6 25-7760 Screw

Screw, 8A X 3/8 HeX Washer

7 25-3092 90767 Head Tapping


http://www.pwslaundry.com/c-502344-residential-admiral-aw25k3a-washer-parts-for-repair-service
http://www.pwslaundry.com/i-10393928-admiral-910187-washer-dryer-screw.html
http://www.pwslaundry.com/i-10392668-admiral-25-7702-washer-dryer-speedclip-end-cap-to-control-panel.html
http://www.pwslaundry.com/i-10396117-admiral-21001452-washer-dryer-cap-end.html
http://www.pwslaundry.com/i-10396116-admiral-21001451-washer-dryer-cap-end.html
http://www.pwslaundry.com/i-10393877-admiral-25-2219-washer-dryer-screw.html
http://www.pwslaundry.com/i-10392671-admiral-25-7851-washer-dryer-speedclip-end-cap-to-top.html
http://www.pwslaundry.com/i-10396433-admiral-33002917-washer-dryer-screw-no-10-16.html
http://www.pwslaundry.com/i-10392673-admiral-25-7760-washer-dryer-screw.html
http://www.pwslaundry.com/i-10394955-admiral-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html

11
12
13
14
15

25-3457
25-7853
35-2688
35-2326
25-0205
35-2255
35-2187
35-0114

25-3092

35-2185
35-2193

25-3092
35-2145
25-3092

33-8304

25-7933

21001460

35-2781
216412

21001497
12500058

90767

21001283

90767
21001554

90767

Not Available

Not Available

Not Available

Speedclip, End Cap To Control
Panel

Shield, Control

Screw, 8A X 3/8 HeX Washer
Head Tapping

Screw, Sems

Ring, Retaining

Shield, Rear

Timer

Screw, Bracket To Timer
Skirt Ri

Knob Ski

TEMP SWITCH

Screw, 8A X 3/8 HeX Washer
Head Tapping

Knob, Selector----Piq
SWITCH, ROTARY SPEED

Screw, 8A X 3/8 HeX Washer
Head Tapping

Switch, Water Level

Screw, 8A X 3/8 HeX Washer
Head Tapping

MANUAL, USE & CARE


http://www.pwslaundry.com/i-10392668-admiral-25-7702-washer-dryer-speedclip-end-cap-to-control-panel.html
http://www.pwslaundry.com/i-10392674-admiral-53-1676-washer-dryer-shield-control.html
http://www.pwslaundry.com/i-10394955-admiral-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10392675-admiral-25-3457-washer-dryer-screw-sems.html
http://www.pwslaundry.com/i-10392757-admiral-25-7933-washer-dryer-ring-retaining.html
http://www.pwslaundry.com/i-10393873-admiral-21001460-washer-dryer-shield-rear.html
http://www.pwslaundry.com/i-10396609-admiral-35-2781-washer-timer.html
http://www.pwslaundry.com/i-10395332-admiral-216412-washer-dryer-screw-bracket-to-timer.html
http://www.pwslaundry.com/i-10396121-admiral-21001497-washer-skirt-ri.html
http://www.pwslaundry.com/i-10396496-admiral-12500058-washer-dryer-knob-ski.html
http://www.pwslaundry.com/i-10394955-admiral-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10394410-admiral-21001283-washer-dryer-knob-selector-piq.html
http://www.pwslaundry.com/i-10394955-admiral-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10392912-admiral-21001554-washer-dryer-switch-water-level.html
http://www.pwslaundry.com/i-10394955-admiral-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html

	Admiral AW25K3A 04 - CONTROL PANEL (REV. E-J)

